20.3125

x% ;ﬁw\ 5/16-18 BOLT WITH

HOLES THREADLOCKER

POST - 2X2

UNIVERSAL TOP ASSEMBLY

2205 STAINLESS STEEL; 14 GA
304 STAINLESS STEEL; 14 GA

.155" ALUMINUM
1/4-20 SCREWS

FRONT LEFT/RIGHT BACK STANDARD STRAIGHT BRKT

EC

6.19 5 WASHER

APPLICATION

20,50
1/4-20 SCREWS

ALUMIINUM DOME
AND TOP

STANDARD SURFACE MOUNT

STANDARD FOOT
375 STANDARD BASE PLATE
75

" STAINLESS STEELL

375-= =—1.5—==—15 «.fﬂs 3" ALUMINUM
( Y 375 o an
Q) Q) O] 5/16" x 4" GRK
RSS FASTENERS
1.5 MINIMUM OF 4 REQUIRED
L 475 OR APPROVED EQUAL'S
O 1.75] O+ 3.75
l 1 3/16" FILLET WELD
i ALL SIDES OF POST
1O O OJars
w; q WOOD MOUNTING SURFACE
R25~" 3.375 IT IS THE RESPONSIBILITY OF THE
| INSTALLER TO VERIFY THE CONNECTIONS

LI 1 WITH THE LOCAL DESIGN PROFESSIONALS

.3125 STAINLESS STEELJ‘
.375 ALUMINUM

STAINLESS
STEEL

P

STAINLESS STEEL DOME\_@.

3/16x2x2 POST TOP—=&K2>

33.7500 ALUMINUM

STANDARD STRAIGHT BRKTM

]

GLASS CLIP

JrCRy 2.0000 AL
RUBBER PAD SPECIFY FOR
10 MM (3") OR 12 MM (") GLASS *] [*
- 1" SLOT WIDTH=}" GLASS
- 2" SLOT WIDTH={" AND 2" GLASS
— =—0.9375 0.9375—=1 =
15/16 110
16
GLASS CLIPS AVAILABLE FOR 3/8" (10MM)
AND 1/2" (12MM) GLASS
-For 3/8" (10 mm) Thick Glass: 1/2"
(12 mm) diameter slot is required if using || [
provided steel pin for glass support.
-For 1/2" (12 mm) Thick Glass: 9/16"
(14 mm) diameter slot is required if using
provided steel pin for glass support. *
-For securing the glass clips to posts use 2.7500
5/16-18 X 1" Socket Head Cap Bolt into pre-drilled = =0
threaded 5/16” holes. 1
48.0000
MAX

SPECIAL APP SURFACE MOUNT

SPECIAL APPLICATION FOOT
SPECIAL APP BASE PLATE

45 %" STAINLESS STEELL
375~ r1 .875T1 .8757 (-—.375 2" ALUMINUM
|
(¢ o o135 3/8" x 3 1/2" CONCRETE WEDGE ANCHOR
j MINIMUM OF 4 REQUIRED
1.875 (PLEASE REFERENCE WEJ-IT FASTENING SYSTEMS
- ,75jL ANKR-TITE WEDGE ANCHORS OR APPROVED EQUAL'S
@) 1.75) O 45 RECOMMENDED EMBEDMENT DEPTH)
L j75 3/16" FILLET WELD
ALL SIDES OF POST
\O p (}) .375
R25—" @455 ! CONCRETE MOUNTING SURFACE
1 IT IS THE RESPONSIBILITY OF THE

LI I INSTALLER TO VERIFY THE CONNECTIONS
.3125 STAINLESS STEELJ WITH THE LOCAL DESIGN PROFESSIONALS
.375 ALUMINUM

D) | CAUSESWALL | WEIGHT REVISION HISTORY GLASS POST SYSTEM A/
REV DISCRIPTION DATE TITLE GROER NG,
31685 11 GA (.125) 5.060 GLASS POST ASSEMBLJY —N—
316SS (HD) 7 GA (.188) 4.320 r—
SS/ALUM/GLASS STD/SPL APP
o e —_— TG ke [ =T VIEWRAIL




	Sheets and Views
	GLASS POST SYSTEM-POST LANDSCAPE


